Calcular Porcientos (G)

Calcule el porciento o valor que se pide.

- ¢Qué porciento de 8.118 € es
4.059 €7

- ¢Qué porciento de 2.720 € es
408 €7

. ¢Qué porciento de 7.986 € es
3.993 €7

. ¢Qué porciento de 9.660 € es
483 €7

. ¢Qué porciento de 1.780 € es
89 €7

10.

;Qué porciento de 9.228 € es
3.076 €7

;Qué porciento de 3.216 € es
2.412 €?

;Qué porciento de 5.132 € es
1.283 €?

;Qué porciento de 8.142 € es
2.714 €7

;Qué porciento de 6.320 € es
632 €?
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Calcular Porcientos (G) Respuestas

Calcule el porciento o valor que se pide.

- ¢Qué porciento de 8.118 € es
4.059 €7
50%

- ¢Qué porciento de 2.720 € es
408 €7
15%

. ¢Qué porciento de 7.986 € es
3.993 €7
50%

. ¢Qué porciento de 9.660 € es
483 €7
5%

. ¢Qué porciento de 1.780 € es
89 €7
5%

10.

;Qué porciento de 9.228 € es
3.076 €7
3315%

;Qué porciento de 3.216 € es
2.412 €?
75%

;Qué porciento de 5.132 € es
1.283 €?
25%

;Qué porciento de 8.142 € es
2.714 €7
33%3%

;Qué porciento de 6.320 € es
632 €?
10%
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